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0-00

03

047

047

6,047,800 5,498,000 549,8006,
T 6,047,800 | Vo 0 6,
”””””””””” 6,047,800
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0-0004

1)
7777777777777777777777777777777777777777777777777 2,152,390
77777777777777777777777 143 3 250 060110
77777777777777777777777 15 0 250 060110
77777777777777777777777 1 | 1. 009,440 000140
77777777777777777777777 156 o 450 0601130
7777777777777777777777777777777777777777777777777 2,152,390
777777777777777777777777777777777777777777777777777777777 13,560
77777777777777777777777 11 3 560 060110
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00005

30, 650
77777777777777777777 13 0,650 B
777777777777777777777777777777777777777777777777777 21 8,000
( N S R P
1 218,000 o
777777777777777777777777777777777777777777777777777777 26 2,210
77777777777777777777777777777777777777777777777 2,414,600
777777777777777777777777777777777777777777777 1,159,062
777777777777777777777777777777777777777777777 3,573,662
777777777777777777777777777777777777777777777 1,924,338
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800
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800
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0-0007

VYOBI 0 -0001
1

VHI KAKUKEI S 0-0002
1 55,200 55,200

VGAI RYAKUKE 0-00083
1 126, 300 26, 300

VGAI RYAKUSE 0-0004
1 105,650 05,650

VGAI SANKOUJ 0-0005
1 105,650 05,650

VHI KAKUI TI R 0-0006
1 40, 450 40, 450
1 33,250

05 -

* * * * * %

-00005-10



0-0008

VHI KAKUKEI S 0 -0002
1
« ) R0620
( ) 1 55,200 55,200
8
#08
2 % 55, 200 1,104
1 55,200
#08 1104
#08 1104
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0-0009

VGAI RYAKUKE 0 -0003
1
« ) R0620
( ) 0.5 55, 200 27,600
8
( ) RO630
( ) 1 45| 300 45,300
8
( ) RO6 40
( ) 1.5 35, 600 53,400
8
#08
2 % 126| 300 2,526
1 126, 300
#08 2526
#08 2526
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0-0010

VGAI RYAKUSE 0 -0004
1
( ) RO630
( ) 0.5 45| 300 22,650
8
( ) RO6 40
( ) 1 35,600 35,600
8
RO650
( ) 1.5 31,600 47,400
8
#08
2 % 105| 650 2,113
1 105, 650
#08 2113
#08 2113

05-******.00005-10



0-0011

VGAI SANKOUJ 0 -0005
1
( ) RO630
( ) 0.5 45| 300 22,650
8
( ) RO6 40
( ) 1 35,600 35,600
8
RO650
( ) 1.5 31,600 47,400
8
#08
2 % 105| 650 2,113
1 105, 650
#08 2113
#08 2113

05-******.00005-10



0-0012

VHI KAKUI TI R 0 -0006
1
« ) R0O630
( ) 0.5 45| 300 22,650
8
« ) R0O640
( ) 0.5 35,600 17,800
8
#08
2 % 40| 450 8009
1 40, 450
#08 809
#08 809

05-******.00005-10



0-0013

VGENTI TOUSA 0 -0007
« ) R0620
( ) 0.5 55, 200 27,600
« ) R0O630
( ) 0.5 45| 300 22,650
1 50, 250
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* * * * * %

-00005-10



0-0014

SA070302030 0 -0008
1
SA070302031 0-00009
1 80|, 820 80,820
SA070302031 0-0010
1 24| 840 24,840
SA070302031 0-0011
1 338,175 338,175
SA070302031 0-0012
1 246, 960 246,960
SA070302031 0-0013
1 190, 170 190,170
SA070302031 0-0014
1 153, 630 153,630
SA070302031 0-0015
1 64|, 845 64,845
1 1,099, 440
A=1 - B=2
c=1 1 :1000m2 D=1 -
F=1 [ ] G=1 [ ]
H=1 [ 1] I =1 [ ]
J=1 [ ] K=1 [ ]
L=1 [ 1]

05-******.00005-10



0-0015

SA070302031 0O -0009
1
RO610
( ) 0.900 62, 200 55,980
8
( ) R0O620
( ) 0. 450 55, 200 24,840
8
#08
2 % 80, 820 1,616
1 80,820
A=1 - B=2
c=1 1 :1000m2 D=1 -
F=1
= 1 * +
= 1
1 = 1.0 0.9 =]0.90
= 1.0 * 0.0 = 0.00
= 0.90 * 1.0 +] 0.00 =|0.900D0 4 3
(A) 1 = 0.5 * 0.9, = 0.45
(A): = 0.5 * 0.0 = 0.00O0
(A) = 0.45 * 1.0 + 0.00| = 0.450 4 3
#08 1616

05-******.00005-10



0-0016

SA070302031 0O -0010
( R0620
( . 450 55, 200 24,840
8
#08
% 24, 840 496
24,840
A=1 - B=2
C=1 1 :1000m2 D=1 -
F=2
= 1 +
(A) -1 5 * 0.9, = 0.45
(A): = 0.5 * 0.0 = 0.60O
(A) = 0.45 * + 0.00] = 0.450
#08 96
05-****x*_00005-10



0-0017

SA070302031 0O -0011
C ) R0O6 20
( ) . 800 55, 200 99, 360
8
C ) R0O6 30
( ) . 150 45| 300 42, 695
8
C ) RO 6 40
( ) . 700 35,600 96, 120
8
#08
% 338, 175 6, 763
38, 175
A=1 - B=2
c=1 1 :1000m2 D=1 -
F=3
= 1 +
= 1
(A) - 1 .0 * 0.9/ = 1.80
(A) - 2.0 *| 0.0 = 0.00
(A) = 1.80 = + 0.00 = 1.800 4
(B) :1 .5 * 0.9 = 3.15
(B) : - 3.5 *| 0.0 = 0.00
(B) = 3.15 * + 0.00 = 3.150 4
(C):1 .0 * 0.9, = 2.170
(C) : - 3.0 *| 0.0 = 0.00
(C) = 2.70 * + 0.00| = 2.700 4
#08 763
* Kk ok *
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**-00005-10
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0-0019

SA070302031 0O -0013
( ) R0O630
( ) 0.900 45|, 300 40, 770
8
( ) R0O640
( ) 1.800 35,600 64, 080
8
R0O650
( ) 2.700 31,600 85,320
8
#08
2 % 190, 170 3,803
1 90,170
A=1 - B=2
C=1 1 1000m2 D=1 -
F=5
= 1 * +
= 1
(B):1 = 1.0 * 0.9 = 0.9pO0
(B): = 1.0 * 0.0 = 0.00O
(B) = 0.90 * 1.0 + 0.00| = 0.pO0O 4
(C):1 = 2.0 * 0.9 = 1.80
(C): = 2.0 * 0.0 = 0.0O
(¢) = 1.80 * 1.0 + 0.00| = 1.800 4
1 = 3.0 * 0.9 = 2.70
= 3,0 * 0.0 = 0.00O0
= 2.70 * 1.0 + 0P0.00 = 2.700 4 3
#08 3803

05 -

* * * * * %

-00005-10



0-0020

SA070302031 0O -00114
1
RO610
) 0.900 62,200 55,980
8
C ) R0O6 20
) 0. 450 55, 200 24,840
8
C ) R0O6 30
) 0.900 45| 300 40, 770
8
C ) RO 6 40
) 0.900 35,600 32,040
8
#08
2 % 153,630 3,072
1 153,630
A=1 - B=2
c=1 1 :1000m2 D=1 -
F=6
= 1 * +
= 1
1 = 1.0 ¢ 0.9 =/0.90
= 1.0 * 0.0 = 0.00O0
= 0.90 * 1.0 +| 0.00 =|0.900 4 3
(A) - 1 = 0.5 * 0.9 = 0.45
(A) - 0.5 * 0.0 = 0.00
(A) = 0.45 * 1.0 + 0.00| = 0.450 4 3
(B) :1 = 1.0 9/ = 0.90
(B) : - 1.0 *| 0.0 = 0.00
(B) = 0.90 * 1.0 + 0.00| = 0.pO0O 4 3
(C):1 = 1.0 * 0.9 = 0.90
(C) : - 1.0 *| 0.0 = 0.00
(¢) = 0.90 * 1.0} + 0.00| = 0.po0O 4 3
3072

(@) B=S
(6] [}

*HRxEF*-.00005-10



0-0021

SA070302031 0 -0015
« ) R0O630
( ) 0.450 45,300 20, 385
8
( ) R0O640
( ) 0.450 35,600 16, 020
8
R0O650
( ) 0.900 31, 600 28, 440
8
#08
2 % 64| 845 1,296
1 64, 845
A=1 - B=2
c=1 1 1000m2 D=1 -
F=7
= 1 * +
= 1
(B):1 = 0.5 * 0.9, = 0.45
( B) : - 0.5 *| 0.0 = 0.00
(B) = 0.45 * 1.0/ + 0.00| = 0.450 4
(C):1 = 0.5 * 0.9| = 0.45
( C): - 0.5 *| 0.0 = 0.00
(C) = 0.45 1.0 + 0.00| = 0.450 4
c 1 = 1.0 *| 0.9 = p.90
= 1.0 * 0.0 = 0. 00
= 0.90 * 1.0 + 0.00 = 0.900 4 3
#08 1296

05 -

* * * * * %

-00005-10



0-0022

SA010100010 0 -0016
1
RO610
( ) 3.5 62, 200 217,700
() RO620
( ) 3.5 55|, 200 193,200
() RO 630
( ) 3.5 45,300 158, 550
1 569, 450
A=5
= 0.5 + 0.5 * B + 0.5 = 3.5
(A) = 0.5 + 0.5 5 + 0.5 = 3.5
(B) = 0.5 + 0.5 5 + 0.5 = 3.5

05-******.00005-10



0-0023

STM03001X3 0 -0017
E0OO0O01
1.00 13,560 13,560
1 13,560
A=1 C=0
2,152,390
13,560 2,152,390 0.68
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0-0024

STM01018 0 -0018
E0OO0O01
1.00 30,650 30,650
1 30,650

05 -

* * * * * %

-00005-10



0-0025

( ) STM02018X3 0 -0019
E0001
1.00 218,000 18,000
1 18,000
A=5
218,000 = ( 6.9 * 2,152 ~ 0.45 ) ¢ 1,000
[ ]
= 2,152,390
= -0
05-******_00005- 10



0-0026

X3000
Y1999 E=5
15RE=(X3000 )
VYOBI 433,250
433,250
VGENTI TOUSA 50, 250
50, 250
SA070302030 099A440B-= 1,D=1, F=1 =1,
099A=-, B= , C= 100Qm2
=[ 1] =[ 1 ,
L J =1 L K=[ ]
SA010100010 569A450
56 9A =
G00O0O
152,390
Z0045
183,560
STM03001X3 13A560
18A =
Z0041
30,650
STMO100118 30, 650
30,650
Z0047
218,000
STM02018X3 ( ) 218A680
2 18A =
G1300
262,210
G2400
414,600
Z0057 1159062=2152390*0.35/0. 65
159, 062
G4700
. 573.662

05-******.00005-10



0-0027

Z0030 | 1924416=3573662*0.35/0. 65
1,92 338
G4800
5,49 000
20038 | 5,498,000
54 8.0.0 0.1000
...... 5,498,000
...... 549800=5498000*0.100
G600O
6, 04 800
05-******.00005-10



0-0028

VYOBI 0 -Q0001
1 433,250
VHI KAKIWKEIOD 0 2
1 55,200
VGAIl RYAK UKIE 0 3
1 126, 300
VGAI RYAOKUSIE 0 4
1 105,650
VGAI SANKGWJI0 0 5
1 105,650
VHI KAK|{W T-I10RD 0 6
1 40, 450
VGENTI [TOOUSJA 0 7
1 50, 250
S A0 7 0 3002 0-3000 0 8 A=1,B=2,C=1, D=1, F=1, G=1
1 1,0R¢1440
SAO0 703|002 0-3010 0 9 A=1,B=2,C=1, D=1, F=1
1 80,820
SAO0703|0020-301010 A=1,B=2,C=1, D=1, F=2
1 24,840
SAO0703(0020-30101 1 A=1,B=2,C=1, D=1, F=3
1 338,175
SAO 703|002 0-3010 1 2 A=1,B=2,C=1, D=1, F=4
1 246, 960

05-******.00005-10



0-0029

SAO0 703|002 0-3010 1 3 A=1, B=2, F=5
90,170
SAO07030020-30101 4 A=1,B=2, C= F=6
53,630
SAO0703|0020-3010 15 A=1, B=2, F=7
64, 845
SAO0101|0000-1000 1 6 A=5
69, 450
STMO030001 X30017 A=1, C=0
13,560
STM010108 - 018
650
STMO020108 X30 019
2 000

05_******
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0-0031

Y1999
2,152,390
VYOBI 0-0Q01
33,250
V GENT I OO WA 7
50, 250
S A0 7 0 3 002-003000 8
1,099, 440
S A0 10 1 000-001001 6
69, 450
70045
13,560
ST MO 3 0 001-X030 1 7
13,560
70041
30,650
STMO101[108 0018
30,650
70047
18,000
ST MO 2 0 108-X030 1 9
18,000

05-******-.00005-10




